Compilers

Recognizing Viable Prefixes
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3.

4.

Recognizing VP

Add a dummy production S — Sto G
The NFA states are the items of G
— Including the extra production

For item E — o.X[3 add transition
E— aXp >*X E— aX.p3

For item E — o.X[3 and production X — v add
E—>aXp > X—>uy
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Recognizing VP

5. Every state is an accepting state

6. Start stateis S’ — .S
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Recognizing VP

S"—>E
ES>T+E|T
T—int*T|int| (E)
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Recognizing VP

TS (E) TLE) 150
> E—:+.E

T > E->T+E

T— int.

To>int* T,
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Recognizing VP
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E—.T+E

Recognizing VP
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ET E—.T+E

T— .int

\ TS .int*T

E- T.

Recognizing VP
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Recognizing VP

1‘ +E I > E->T+E
E
S—>.E /
_» T— .int
e <
E—>.T
T T—>|n‘r T

E—> T.
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Recognizing VP

E /7
5~ .k _>» T .int
_—
E->.T <‘(
T T—>|n‘r T

E—)T
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Recognizing VP

—E5 T, (E)

___T—>E > T+E

\ TS .int*T

~
E> T.
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Recognizing VP

—E5/T,6E) TS50

___T—>E > T+E

\ T.int*T

~
E> T.
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Recognizing VP

—E5/T,6E) TS50

E—> T+E

T S E>T+E F—7

\ T.int*T

~
E> T.
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Recognizing VP

—E5/T,6E) TS50

E
E > T+E.

\ T.int*T

~
E> T.

Alex Aiken



Recognizing VP

—E5/T,6E) TS50

y T— int.

E > T+E.

\ T.int*T

~
E> T.
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Recognizing VP

—E5/T,6E) TS50

y T— int.
. )/7 T int*T
\ T.int*T

~
E> T.

E > T+E.
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Recognizing VP

—E5/T,6E) TS50

y T— int.

: )/T—)int.*T
\T—xin’r*’r ' —

~ P
ELT T—o>int>T

E > T+E.
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Recognizing VP

TLE) 150

T— int.

E > T+E.

To>int* T,
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Choose the correct NFA for the given grammar

Recognizing VP

S—>E E—>-E|id
S—.E > EF—.id \id
E\ S’_)E c E—)ld &d
e | E—id. \
E— -E NG El €
Q_‘< E O E—) P E—id.
e E—>-E = E—> -E. E
S’_)E e E—>-E = E—> -E.
S>> .E ? E—.id &id
) S~ .E —>E > .id &id
E—id.
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